
Description Slot Version Weight (g) ESD Art. no.:

Suspension bracket for protective fence N10 10 With fastening kit* 430.0 321410

Suspension bracket for protective fence N10 with loss protection 10   With fastening kit** 550.0 321420

Dimensions Slot Version Weight (g) Art. no.:

30x30 WG 30/40 with hole - Black (with hole Ø8.5) 3.4 401007

30x30 WG 30/40 - Black 3.0 401008

COVER CAP 30x30 WG 30/40; 30x30 WG 30/40 WITH HOLE  
Material: PA plastic (black)

B45B40 i B

www.askgmbh.com  

MOUNTING MATERIALS

3

320

HI
NW

EI
S:

 S
äm

tlic
he

 In
for

ma
tio

ne
n, 

die
 in

 di
es

em
 D

ok
um

en
t e

nth
alt

en
 si

nd
, s

ind
 S

TR
EN

G 
VE

RT
RA

UL
IC

H.
 Je

de
r E

mp
fän

ge
r

die
se

s D
ok

um
en

ts 
da

rf 
die

 da
rin

 en
tha

lte
ne

n I
nfo

rm
ati

on
en

, d
ire

kt 
od

er
 in

dir
ek

t, n
ur

 m
it a

us
sc

hli
es

sli
ch

er
, s

ch
rift

lic
he

r
Zu

sti
mm

un
g d

er
 F

irm
a A

SK
 an

 D
ritt

e w
eit

er
ge

be
n o

de
r o

ffe
nle

ge
n. 

Di
e F

irm
a A

SK
 be

hä
lt s

ich
 al

le 
Re

ch
te 

in 
Be

zu
g

au
f U

rh
eb

er
re

ch
tsg

es
etz

, P
ate

nt-
 un

d G
eb

ra
uc

hs
mu

ste
rsc

hu
tz 

vo
r. 

Liz
en

zre
ch

te 
we

rd
en

 hi
er

du
rch

 ni
ch

t e
rte

ilt.

NO
TE

: T
he

 in
for

ma
tio

n o
r m

ate
ria

l c
on

tai
ne

d i
n t

his
 do

cu
me

nt 
is 

ST
RI

CT
LY

 C
ON

FI
DE

NT
IA

L a
nd

 an
y r

ec
ipi

en
t

of 
thi

s d
oc

um
en

t s
ha

ll n
ot 

dis
clo

se
 or

 di
vu

lge
, d

ire
ctl

y o
r in

dir
ec

tly
, th

is 
do

cu
me

nt 
or

 th
e i

nfo
rm

ati
on

 or
 m

ate
ria

l
co

nta
ine

d h
er

ein
 w

ith
ou

t th
e w

ritt
en

 co
ns

en
t o

f th
e c

om
pa

ny
 A

SK
. A

ll c
op

yri
gh

ts,
 tr

ad
em

ar
ks

, p
ate

nts
 an

d o
the

r
rig

hts
 in

 co
nn

ec
tio

n h
er

ew
ith

 ar
e e

xp
re

ss
ly 

re
se

rve
d t

o t
he

 co
mp

an
y A

SK
 an

d n
o l

ice
ns

e i
s c

re
ate

d h
er

eb
y.

 30,5 

 3
� 

 0
8 

�,3 

8,5 

 0
8 

200PP
�EHOLHELJ 9DULLHUEDU�

20
0P

P
�E

HO
LH

EL
J 

9
DU

LLH
UE

DU
�

6icKerunJVVcKraube 0�x��,
6taKl, Yer]inkt

9erlierVicKerunJ, KunVtVtoII 3A

8nYerlierbarkeitVVcKeibe

+ammerVcKraube 0�x20,
6taKl, Yer]inkt                  

%unGmutter 0�, �2�,
6taKl, Yer]inkt           

=entrierVtiIt

Kundenfreigabe

d.suttner

  

  

A 14.11.2018 m.fenk

Art.-Nr. ASK:

NameDatumÄnderungZust

0,43

30.01.2018

1:2

1
1

321420   A 

Maßstab

Blatt

Bl.

Zeichnungsnummer - Dokumentname

Material

Behandlung

Masse

Abmessungen
Zinkdruckguss
- -

Einhängewinkel-Satz für Schutzzaun �m. Verliersicherung�
Beschreibung

SOLIDWORKS, DIN A3

Datum
Bearb.
Mo-Freig.
Freig.

Name

27.11.2018 d.suttner

Datei: 321410 � 321420Btz Status: KATALOG - FREIGEGEBEN

Allgemeintoleranzen Oberfläche

siehe
Zeichnung

Werkstückkanten

siehe
Zeichnung

DIN ISO 2768 T1 - m
DIN ISO 2768 T2 - K
Profilmontagetoleranz 1

Auftragsnummer

321420

SUSPENSION BRACKET SET FOR PROTECTIVE FENCE                
(OPT. WITH LOSS PROTECTION)
Angle bracket material: die-cast zinc

For suspending protective fences (e.g. crimped mesh) as wall-mounted 
elements.

The following processing actions are required to assemble the set of items:

Through hole Ø7 at a spacing of 12 mm in the vertical profi les and M8 
threaded holes in the horizontal profi les.

Fastening kit: * Fastening kit: **

4x suspension brackets, die-cast zinc, bare 4x suspension brackets, die-cast zinc, bare

4x fl anged nuts M8, steel, zinc-plated 4x fl anged nuts M8, steel, zinc-plated

4x T-head bolts M8x20, steel, zinc-plated 4x T-head bolts M8x20, steel, zinc-plated

2x locking screws M8x16, steel, zinc-plated 2x locking screws M8x16, steel, zinc-plated

2x centring pins Ø8.5, steel, zinc-plated 2x centring pins Ø8.5, steel, zinc-plated

2x loss protection, PA plastic

2x captive disc

10

200 mm (unlimited variability)

Locking screw M8x16,  
steel, zinc-plated)
Loss protection, PA plastic

Captive washer

20
0 

m
m

 (u
nl

im
ite

d 
va

ria
bi

lit
y)

T-head bolt M8x20, 
steel, zinc-plated

Flanged nut M8 ø21, 
steel zinc-plated

Centring pin


